

MAT 104

ANULUNKO CHUKWUEBUKA OLIVER
MECHATRONICS ENGINEERING
19/ENG05/014

$$1 \int \frac{3x-1}{(x-1)(x-2)(x-3)} dx$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{x-1} + \frac{B}{x-2} + \frac{C}{x-3}$$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

when $x-1=0$ $x=1$

$$3(1)-1 = A(1-2)(1-3) + B(0)(1-3) + C(0)(1-2)$$

$$2 = 2A$$

$$A = 2/2$$

$$A = 1$$

when $x-2=0$ $x=2$

$$3(2)-1 = A(0)(2-3) + B(2-1)(2-3) + C(2-1)(0)$$

$$5 = 0 + -B + 0$$

$$5 = -B$$

$$B = -5$$

When $x-3=0$ $x=3$

$$3(3)-1 = A(x-2)(0) + B(x-1)(0) + C(3-1)(3-2)$$

$$8 = 0 + 0 + 2C$$

$$8 = 2C$$

$$C = 4$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} + \frac{-5}{x-2} + \frac{4}{x-3} dx$$

$$= \ln(x-1) - 5\ln(x-2) + 4\ln(x-3) + C$$

$$2 \int \frac{x^2+x+1}{(x+2)(x^2+1)} dx$$

$$\frac{x^2+x+1}{(x+2)(x^2+1)} = \frac{A}{(x+2)} + \frac{Bx+C}{(x^2+1)}$$

$$x^2+x+1 = A(x^2+1) + (Bx+C)(x+2)$$

When ~~$x^2+1=0$~~

$$x^2+x+1 = Ax^2+A+Bx^2+2B+Cx+2C$$

$$x^2 = Ax^2 + Bx^2$$

$$1 = A+B \text{ --- (1)}$$

$$x = Cx + 2Bx$$

$$1 = C + 2B \text{ --- (2)}$$

~~$$1 = C + 2B \text{ --- (2)}$$~~

~~$$1 = A + 2B + C \text{ --- (3)}$$~~

$$1 = A + 2C \text{ --- (3)}$$

$$1 = A + B$$

$$1 = C + 2B$$

$$1 = 2B + C \times 2$$

$$1 = A + 2C$$

$$1 = A + 2C \times 1$$

$$2 = 4B + 2C$$

$$-1 = A + 2C$$

$$1 = 4B - A \text{ --- (4)}$$

$$1 = 4B - A$$

$$+1 = A + B$$

$$2 = 5B \neq 0$$

$$B = \frac{2}{5}$$

$$1 = A + B$$

$$1 = A + \frac{2}{5}$$

$$A = 1 - \frac{2}{5} = \frac{3}{5}$$

$$A = \frac{3}{5}$$

$$1 = A + 2C$$

$$1 = \frac{3}{5} + 2C$$

$$1 - \frac{3}{5} = 2C$$

$$\frac{2}{5} = 2C$$

$$C = \frac{4}{5}$$

$$\int \frac{x^2+x+1}{(x+2)(x^2+1)} dx = \int \frac{3}{5(x+2)} + \frac{2x}{5(x^2+1)} + \frac{4}{5(x^2+1)} dx$$

~~$$\frac{3}{5(x+2)} + \frac{2x+4}{5(x^2+1)}$$~~

$$= \frac{3}{5} \ln|x+2| + \frac{1}{5} \ln|x^2+1| + \frac{4}{5} \tan^{-1} x + C$$

$$3 \int \frac{x^2+1}{(x-3)(x-2)^2} dx$$

$$\frac{x^2+1}{(x-3)(x-2)^2} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$$

$$x^2+1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$$

$$x^2+1 = A(x^2-4x+4) + B(x^2-5x+6) + C(x-3)$$

$$x^2+1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$$

~~$$x^2+1 = x^2 = Ax^2 + Bx^2$$~~

$$1 = A + B \quad \text{--- (1)}$$

$$0x = -4Ax - 5Bx + Cx \quad 0 = -4A - 5B + C \quad \text{--- (2)}$$

$$1 = 4A + 6B - 3C \quad \text{--- (3)}$$

$$0 = -4A - 5B + C$$

$$-C = -4A - 5B \quad C = 4A + 5B \quad \text{--- (4)}$$

$$1 = 4A + 6B - 3C$$

$$1 = 4A + 3B - 3(4A + 5B)$$

$$1 = 4A + 3B - 12A - 15B$$

$$1 = -8A - 12B \quad \text{--- (5)}$$

$$1 = A + B \quad \times -8$$

$$1 = -8A - 12B \quad \times 1$$

$$-8 = -8A - 8B$$

$$-1 = -8A - 12B$$

$$-9 = 0 + 4B$$

$$-9 = 4B$$

$$B = -\frac{9}{4}$$

$$x-1 \overline{) \begin{array}{r} x^2+2x+3 \\ x^3+x^2+x+1 \\ -x^3-x^2 \end{array}}$$

$$\begin{array}{r} 2x^2+x+1 \\ -2x^2-2x \end{array}$$

$$\begin{array}{r} 3x+1 \\ -3x-3 \\ \hline 4 \end{array}$$

$$\frac{x^3+x^2+x+1}{x-1} = x^2+2x+3 + \frac{4}{x-1}$$

$$\int (x^2+2x+3) + \frac{4}{x-1} dx$$

$$\frac{x^3}{3} + \frac{2x^2}{2} + 3x + 4 \ln|x-1| + C$$

$$\frac{x^3}{3} + x^2 + 3x + 4 \ln|x-1| + C$$